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QUESTION 1

The bandwidth between two sites is too slow to transfer large virtual machine files. The administrator needs to export a
virtual machine to OVF to reduce the size of the transfer.

When the administrator attempts to initiate the Export OVF Template feature, the selection is grayed out.
What is the likely reason that the administrator is unable to select this option?

A. The virtual machine is in a powered on state.

B. There is not enough disk space on the destination for the OVF.

C. The administrator\\'s account does not have the correct privileges.

D. The virtual machine is not compatible with the OVF format.

Correct Answer: A

QUESTION 2

A VMware administrator determines that a low priority virtual machine is negatively affecting the disk 1/0 performance of
a higher priority virtual machine. The virtual machines are hosted on the same datastore presented to the same ESXi
host.

Which configuration option should the VMware administrator use to resolve this issue?

A. Increase the disk share value for the high priority VM.

B. Migrate the low priority VM to another ESXi host.

C. Create a Storage Profile for each priority level.

D. Enable vSphere APIs for Array Integration (VAAI).

Correct Answer: A

QUESTION 3

-- Exhibit -
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r N
i4}) Production Properties &J

General 1 Security  Traffic Shaping | NIC Teaming

— Policy Exceptions - F »
To override a policy defined by the switch, check the bix below.

Status: ['] ]Enal:uled ;J

Average Bandwidth: JIDDDDD —_":i Khits fz=c
Peak Bandwidth: | 100000 - Kbits/sec
Burst Size: | 102400 = Kbytes

L_L;J Traffic shaping policy is applied to the traffic of each virtual network adapter attached
to the port group.,

-- Exhibit -

An administrator determines that traffic shaping does not appear to be working on Production, a virtual machine port
group on vSwitchl. Traffic shaping is working on all

other port groups on the switch.

The administrator examines the Traffic Shaping settings as shown in the exhibit:
What should the administrator do to resolve the problem?

A. Select the Status checkbox to enable Traffic Shaping on the portgroup.

B. Reduce the Average Bandwidth to 50% of the Peak Bandwidth.

C. Reduce the Burst Size to 50% of the Peak Bandwidth.

D. Click the Security tab and create the necessary security exception.

Correct Answer: A

QUESTION 4

A vSphere administrator can create an alarm on which two objects? (Choose two.)
A. LUN

B. Datastore

C. Template

D. Folder
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Correct Answer: BD

QUESTION 5

Which condition would prevent an administrator from unmounting a VMFS datastore?
A. The datastore is being managed by Storage DRS.

B. The datastore contains vCenter Server templates.

C. The datastore is mounted by multiple hosts.

D. The storage backing the datastore is detached.

Correct Answer: A
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